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SBI PO Pre 2024-25 Memory Based Paper 24-Mar-2025-1st shift

Q1. In the question below, four sentences have been given. Out of four sentences, one sentence
is error-free. Find out which of the following sentence is error-free. If all the given sentences
have errors, then choose option ‘None is correct’ as the answer choice.

(a) She insisted to take the blame even though the mishap was clearly not her fault.

(b) The committee members, many of whom has served over a decade, voiced their dissent vehemently.
(c) Had they adhered strictly to the guidelines, the irregularities would not have occurred.

(d) The number of applicants, regardless of their credentials, do not guarantee selection.

(e) None is correct

Q2. In the question below, four sentences have been given. Out of four sentences, one sentence
is error-free. Find out which of the following sentence is error-free. If all the given sentences
have errors, then choose option ‘None is correct’ as the answer choice.

(a) No sooner the storm had passed when the rescue operations began across the devastated coastlines.
(b) The manager, along with her assistants, are conducting a quarterly audit to assess the team's
efficiency.

(c) Only after receiving the final approval did the architect proceeded with the blueprint modifications.
(d) The diplomat's speech, though lengthy and nuanced, managed to convey the nation's stance clearly.
(e) None is correct

Q3. In the question below, four sentences have been given. Out of four sentences, one sentence
is error-free. Find out which of the following sentence is error-free. If all the given sentences
have errors, then choose option ‘None is correct’ as the answer choice.

(a) If he would have disclosed the real figures, the investors might had reconsidered their decisions.
(b) Between you and I, the proposal lacks clarity and feasibility in its current format.

(c) Rarely do the judges shows such leniency in cases involving repeated offenses.

(d) The startup's success, attributed largely to innovative thinking, drew attention from global
investors.

(e) None is correct

Q4. In the question below, four sentences have been given.
Out of four sentences, one sentence is error-free. Find out
which of the following sentence is error-free. If all the given Test

sentences have errors, then choose option ‘None is correct’ as
the answer choice.

(a) Herefrained to mention the incident, fearing it may reopen old
wounds among the committee members.

. . . ALL EXAMS,
(b) Were the documents submitted on time, we could had avoided ONE SUBSCRIPTION.
the penalty altogether.

(o) Neltfller .the director nor the team members was willing to take ﬁ m
responsibility for the error. :

(d) The statistics regarding rural employment, which was
gathered last year, are now outdated.
(e) None is correct



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/5zsmwiLHz7

i

Q5. In the question below, four sentences have been given. Out of four sentences, one sentence
is error-free. Find out which of the following sentence is error-free. If all the given sentences
have errors, then choose option ‘None is correct’ as the answer choice.

(a) Despite his best efforts, the conclusion he arrived lacked coherence and failed to address the
premise.

(b) Scarcely had the rebels laid down arms when fresh skirmishes erupted near the northern border.
(c) Whosoever they appoint for the post must demonstrates both integrity and strategic foresight.

(d) Not until the investigation was completed we knew the extent of the financial discrepancies.

(e) None is correct

Directions (6-11): In the following paragraph there are blanks indicated by letters. For each
blank, five options are given. Choose the most appropriate word from the options that fits the
blank given in the sentence appropriately.

The COVID-19 pandemic brought a dramatic shift in global work culture. While some professionals
__(A)___the flexibility of remote work, others were eager to return to the structured environment
of ___ (B) office spaces. This divide in preference has highlighted several factors that influence
individual choices.

One major reason many employees now prefer remote work is the significant reduction in commuting.
For those residing in busy metropolitan areas, ___ (C)____can consume hours each day, often resulting
in increased stress and decreased productivity. By working from home, these individuals find they can
better manage their ___(D)____ while maintaining high efficiency.

On the other hand, some employees actively prefer returning to the office for social and professional
reasons. The office environment fosters greater collaboration and provides immediate access to
colleagues for spontaneous discussions and brainstorming. Additionally, certain employees believe that
physical presence in the office enhances their chances of career growth.

Interestingly, some companies have adopted a ___(E)____model, allowing employees to combine
remote work with occasional office visits. This model seeks to balance the advantages of flexible
working conditions with the benefits of face-to-face interaction.

Ultimately, the post-pandemic landscape ____(F) that the future of work is not one-size-fits-all.
Employees are increasingly prioritizing factors like commute time, social interaction, and work-life
balance when deciding which setup suits, the best.

Q6. Which of the following word best fits in (A)?
(a) tailored

(b) admitted

(c) recognized

(d) embraced

(e) emphasized

Q7. Which of the following word best fits in (B)?
(a) traditional

(b) renovated

(c) modern

(d) pristine

(e) collective
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Q8. Which of the following word best fits in (C)?
(a) walking

(b) travelling

(c) running

(d) driving

(e) moving

Q9. Which of the following word best fits in (D)?
(a) resources

(b) strength

(c) schedules

(d) funds

(e) well -being

Q10. Which of the following word best fits in (E)?
(a) nuanced

(b)thorough

(c) scientific

(d) distinct

(e) hybrid

Q11. Which of the following word best fits in (F)?
(a)epitomizes

(b) inhibits

(c) demonstrates

(d) promises

(e) generalizes

Q12. In the given question, a statement divided into different segments is given. Rearrange all
the segments to form a coherent statement. If no rearrangement is required select “No
rearrangement required” as correct answer.

A: despite repeated warnings

B: ignored the signs

C: the authorities

D: of an impending

E: natural disaster

(a) CBAED

(b) CBDEA

(c) EDBAC

(d) CDEBA

(e) No rearrangement required
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Q13. In the given question, a statement divided into different segments is given. Rearrange all
the segments to form a coherent statement. If no rearrangement is required select “No
rearrangement required” as correct answer.

A: which can contribute to reducing urban congestion

B: and promote healthier lifestyles

C: encouraging the use of bicycles in cities

D: while also lowering pollution levels significantly

E: is a sustainable approach,

(a) CEADB

(b) ECBAD

(c) DCEBA

(d) EACDB

(e) No rearrangement required

Q14. In the given question, a statement divided into different segments is given. Rearrange all
the segments to form a coherent statement. If no rearrangement is required select “No
rearrangement required” as correct answer.

A: of prolonged droughts and extreme heat

B: climate change is intensifying the frequency

C: across various parts of the globe

D: impacting agriculture and water supply

E: causing significant ecological imbalances

(a) BCAED

(b) BACDE

(c) DABCE

(d) CDEAB

(e) No rearrangement required

Q15. In the given question, a statement divided into different segments is given. Rearrange all
the segments to form a coherent statement. If no rearrangement is required select “No
rearrangement required” as correct answer.

A: as the world becomes increasingly digital

B: governments need to ensure access

C: to digital tools and internet connectivity

D: especially in rural and underserved areas

E: to bridge the digital divide

(a) ADBEC

(b) DECBA

(c) EACBD

(d) ACBDE

(e) No rearrangement required
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Directions (16-18): In the given question, two words are omitted, which are replaced by blanks.
Choose the best combination of the words that can fit into the given blank at the same order so
to make a grammatically and logically correct statement.

Q16. The central bank introduced measures to _____ shadow banking activities and _____ liquidity to
ensure financial stability.

(a) invigorate, conserve

(b) dismantle, infuse

(c) prolong, restrict

(d) validate, suspend

(e) highlight, withdraw

Q17. The ambassador attempted to _____ diplomatic ties after the conflict and urged both nations to
______their strategic objectives.

(a) dismantle, confuse

(b) revive, align

(c) obscure, isolate

(d) dismiss, exaggerate

(e) withhold, collide

Q18. To address global warming, the agreement sought to ____ industrial emissions and _____
innovations in renewable technology.

(a) conceal, ignore

(b) escalate, delay

(c) reduce, foster

(d) isolate, inhibit

(e) monitor, neglect

Directions (19-26): Read the following passage and answer the given questions.

The COVID-19 pandemic not only reshaped the toy industry for children but also triggered an
unexpected trend among adults — a growing attachment to soft toys. As lockdowns and social
distancing measures confined people to their homes, many adults turned to soft toys as a source of
emotional comfort and stress relief. The sense of familiarity and warmth offered by these toys provided
a much-needed emotional anchor during uncertain times. The increased focus on mental health and
self-care led to a noticeable rise in soft toy purchases among adults, alongside other comfort-focused
items like weighted blankets, calming puzzles, and mindfulness books.

In 2020, toy sales increased by 16%, with soft toys playing a significant role in this growth—not only
among children but also among adults. Adults began seeking ways to reconnect with their inner child,
using soft toys as a tool for emotional regulation and relaxation. The tactile comfort of plush toys helped
reduce anxiety, promote better sleep, and provide a sense of security. Educational toys and products
supporting emotional well-being gained traction among adults as well, but soft toys stood out as a sign
of emotional healing and personal comfort in an unpredictable environment.
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Interestingly, even social media influencers have contributed to this trend. One popular influencer
recently admitted feeling the pressure to her collection of soft toys, worried that it might
affect her online image. However, her audience rallied around her, encouraging her to embrace her love
for soft toys and continue sharing her playful side. This highlights a broader shift in cultural attitudes,
where emotional vulnerability and self-comfort are becoming more accepted and even celebrated.
Zahn, a behavioral expert, noted that the emotional attachment to soft toys reflects a deeper need for
psychological stability. "The act of holding or hugging a soft toy activates the brain's calming response,”
Zahn explained. As the market stabilized in 2021, the demand for soft toys among adults remained
strong due to their emotional value. The trend toward eco-friendly products also became evident, with
adults showing increasing interest in soft toys made from sustainable materials.

Adults have increasingly started to book their toy purchases in advance to secure limited-edition and
themed products during sales events. The growing influence of streaming platforms on product
discovery and marketing has further shaped adult buying patterns. Soft toys have become a lasting
symbol of emotional security and inner peace, reflecting a broader shift in how adults approach
emotional well-being post-pandemic. The soft toy market, once dominated by children, now reflects a
growing cultural acceptance of adults embracing their inner child.

Q19. Choose the word that is most similar in meaning to the word "confined" as used in the
passage:

(a) Restricted

(b) Isolated

(c) Protected

(d) Relocated

(e) Diverted

Q20. Which of the following statements is/are correct according to the passage?

(I) The rise in soft toy sales during the pandemic was driven by both emotional comfort and their
educational value for adults.

(I1) The influencer's decision to get rid of her soft toys was met with disapproval from her audience.
(III) Zahn attributed the rise in soft toy sales to their affordability and widespread availability in the
market.

(a) Only I and II are correct

(b) Only Il is correct

(c) Only I and III are correct

(d) Only IT and III are correct

(e) All are correct

Q21. Which of the following statements is/are incorrect based on the passage?

(I) Adults started buying soft toys during the pandemic because they became more affordable and
widely available.

(II) Streaming platforms helped increase the visibility of soft toys among adult consumers.

(III) The increased interest in soft toys among adults was linked to a broader shift in consumer values
toward emotional security.
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(a) Only I and II are incorrect
(b) Only II and III are incorrect
(c) Only I is incorrect

(d) Only I and III are incorrect
(e) All are incorrect

Q22. Which of the following statements is/are true according to the passage?

(I) Soft toys became popular among adults during the pandemic as a tool for emotional regulation and
stress relief.

(I) Zahn predicted that the market for soft toys would decline sharply after the pandemic.

(III) The influencer’s decision to stop playing with soft toys was influenced by negative audience
feedback.

(a) Only I and II are true

(b) Only T is true

(c) Only I is true

(d) Only I and III are true

(e) All are true

Q23. Choose the word that is most similar in meaning to the word "book" as used in the passage:
(a) Reserve

(b) Record

(c) Collect

(d) Confirm

(e) Purchase

Q24. Choose the most appropriate option to fill in the blank with the correct phrase:
(a) take away

(b) getrid of

(c) put away

(d) dispose off

(e) give away

Q25. Choose the word that is most similar in meaning to the word "sign" as used in the passage:
(a) Gesture

(b) Physical

(c) Agreement

(d) Symbol

(e) Display

Q26. What shift in consumer behavior regarding toy purchases is highlighted in the passage?
(a) Adults started prioritizing emotional comfort and nostalgia over educational value.

(b) Increased demand for digital toys reduced the popularity of soft toys.

(c) Parents influenced their children’s toy preferences based on eco-friendly choices.

(d) Adults preferred to buy soft toys only during holiday seasons and sales events.

(e) Emotional value lost significance as affordability became the driving factor.
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Q27. In each of the questions given below a sentence is given with three words in bold. Choose
the option which gives the correct sequence of these words to make the sentence grammatically
and contextually correct.

The central bank’s recent policy shift is seen as a response to (A) inflationary (B) persistent (C)
pressure on the currency.

(a) ACB

(b) BAC

(c) CAB

(d) BCA

(e) No rearrangement required

Q28. In each of the questions given below a sentence is given with three words in bold. Choose
the option which gives the correct sequence of these words to make the sentence grammatically
and contextually correct.

The peace talks were hindered by (A) conflicting (B) claims (C) territorial made by both nations at
the summit.

(a) ACB

(b) BAC

(c) BCA

(d) CAB

(e) No rearrangement required

Q29. In each of the questions given below a sentence is given with three words in bold. Choose
the option which gives the correct sequence of these words to make the sentence grammatically
and contextually correct.

The company is facing criticism for allegedly sharing user data with (A) platforms (B) unauthorized
(C) third-party without explicit consent.

(a) ACB

(b) CBA

(c) BAC

(d) BCA

(e) No rearrangement required

Q30. In each of the questions given below a sentence is given with three words in bold. Choose
the option which gives the correct sequence of these words to make the sentence grammatically
and contextually correct.

The documentary presents a (A) portrayal of the refugee crisis that is both (B) raw, (C) moving and
unflinchingly honest.

(a) ACB

(b) CBA

(c) BCA

(d) No rearrangement required

(e) BAC
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Directions (31-33): Which of the following phrases given below the sentence should replace the
phrase printed in bold letters to make the sentence grammatically correct? Choose the best
option among the five given alternatives that reflect the correct use of phrase in the context of
the grammatically correct sentence. If the sentence is correct as it is, mark “No correction
required” as the answer.

Q31.The President arrived in a black armored sleek vehicle as part of heightened security
arrangements for the summit.

(a) sleek black armored

(b) armored sleek black

(c) sleek armored black

(d) black sleek armored

(e) No replacement required

Q32.The UN resolution proposed that the country improves its human rights record before further
aid is granted.

(a) the country will improve its

(b) the country should improves its

(c) the country improve its

(d) the country had improved its

(e) No replacement required

Q33.The minister did not specify why was the policy reversed despite public support.
(a) why did the policy

(b) the reason for which

(c) that why the policy

(d) why the policy was

(e) No replacement required

Q34. In each question two columns are given, each containing three phrases/sentences. Choose
the option that will connect the phrases to form meaningful and correct sentences.

ColumnI

A. Caught in the unexpected traffic jam,

B. The new housing policy

C. Without proper guidance,

Column II

D. many first-time buyers felt overwhelmed.
E. they missed the crucial interview.

F. sparked debates across the city. ALL EXAMS,

(a) A-D ONE SUBSCRIPTION.
(b) B-E

c) Both A-D and B-D ) =
o ) € ©

(e) B-Eand C-D
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Q35. In the question below, four sentences are given. Only one of them uses the phrasal verb "break
down" correctly in context. Choose the correct option. If none of the sentences is correct, select option
(E) None is correct.

(a) She plans to break down the stairs to paint them a brighter color.

(b) I will break down my friend at the airport tomorrow morning.

(c) They break down the cake and served it in tiny portions.

(d) The washing machine tends to break down every time we overload it.

(e) None is correct

Directions (36-40): Rearrange the following sentences in a proper sequence to form a
meaningful paragraph where sentence (D) is FIXED in its position and answer the questions
given below them.

(A) Remote work, once rare, is now a common practice in many industries worldwide.

(B) Therefore, automation is replacing repetitive tasks and creating new opportunities in various job
roles.

(C) This transformation is driven by three interconnected pillars: remote work, automation, and the gig
economy.

(D) Technological advancements and connectivity are removing geographical limits in modern
work settings.

(E) The traditional concept of work is undergoing a profound transformation, reshaping the very fabric
of how we approach our careers and professional lives.

(F) These pillars are transforming workplaces and encouraging adaptability and innovation.

Q36. Which of the following should be the FIRST sentence after rearrangement?
(a) E
(b)C
() F
(d) A
(e)B

Q37. Which of the following should be the SECOND sentence after rearrangement?
(@D
(b) E
(B
(d)C
(e)F

Q38. Which of the following should be the THIRD sentence after rearrangement?
@c
(b) E
() F
(d) A
(e)B
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Q39. Which of the following should be the FIFTH sentence after rearrangement?
(a)B
(b) A
(O F
(d)C
(e) E

Q40. Which of the following should be the LAST (SIXTH) sentence after rearrangement?
(@cC
(b) F
(A
(d)E
(e)B

Directions (41-45): Read the following table carefully and answer the questions given below.
The table shows total number of EV manufactured by five different companies. The table also
shows the percentage of petrol vehicles manufactured out of the total vehicles (diesel, EV and
Petrol) manufactured and the percentage of diesel vehicles manufactured out of the total petrol
vehicles manufactured by these companies.

Companies Total EV Percentage of Percentage of
manufactured petrol vehicles diesel
manufactured vehicles
manufactured
A 64 60% 4004
B 120 400 2504
C 171 3090 75%
D 300 25% 6004
E 28 50080 8004

Q41.Find the difference between the total number of diesel vehicles manufactured by D and the
total number of vehicles (diesel, EV, and petrol) manufactured by B.

(a) 100

(b) 165

(c) 65

(d) 125

(e) 90

Q42. The total number of petrol vehicles manufactured by E is what percentage more or less
than the total number of diesel vehicles manufactured by D?

(a) 86.67%

(b) 43.33%

(c) 33.33%

(d) 52.5%

(e) 72.5%
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Q43. Find the ratio of the total number of vehicles (diesel, EV, and petrol) manufactured by C to
the total number of EVs manufactured by B.

(a) 3:1

(b) 1:3

(c) 1:2

(d) 2:3

(e) 3:4

Q44. The total number of vehicles (diesel, EV, and petrol) manufactured by F is 25% more than
that of D, and the total number of petrol vehicles manufactured by F is half that of C. If the ratio
of the total number of diesel vehicles manufactured by B to F is 12:19, respectively, then find the
total number of EVs manufactured in F.

(a) 509

(b) 452

(c) 398

(d) 456

(e) 533

Q45. The total number of vehicles (diesel, EV, and petrol) manufactured by A is how many more
or less than the total number of diesel vehicles manufactured C, D and B together.

(a) 500

(b) 220

(c) 390

(d) 420

(e) 250

Directions (46-50): Read the following information carefully and answer the questions given
below. The information about three sellers who sold two types of rice, i.e., brown and white.

The quantity of white rice sold by all three seller is 230 kg. The quantity of brown rice sold by B is 20%
more than the quantity of white rice sold by A. The quantity of white rice sold by B is 20 kg more than
that of brown rice. The ratio of brown rice sold by A to B is 2:3. The average quantity of brown rice sold
by all three sellers is 60 kg, and the total rice (white and brown) sold by Cis 75 kg.

Q46. The total quantity of white rice sold by C is how much more or less than the total quantity
of brown rice sold by A (in Kg).

(a) 10

(b) 15

()5

(d)12

(e) 8
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Q47. The total quantity of white rice sold by B is what percentage of the total quantity of brown
rice sold by A?

(2) 133.33%

(b) 150.33%

() 175.25%

(d) 199.75%

(e) 183.33%

Q48. The total quantity of white rice sold by D is 5 kg more than the average quantity of brown
rice sold by A and C. If the total quantity of brown rice sold by D and B is in the ratio of 11:15
respectively, then find the total quantity of rice (brown and white) sold by D.

(a) 116 kg

(b) 112 kg

(c)110kg

(d) 104 kg

(e) None of these

Q49. If the price of each kg of white rice sold by A is Rs 20 and the total revenue earned by A to
sell all the quantity of rice (brown + white) is Rs 2580, then find the price of each kg of brown
rice sold.

(a) 8

(b) 14

(c) 10

(d) 18

(e)12

Q50. Find the ratio of the total quantity of white rice sold by B to the total quantity of brown rice
sold by A and B together.

(a) 12:11

(b) 14:19

(c)13:11

(d) 11:15

(e) 10: 17

Directions (51-55): Read the following pie charts carefully and answer the questions given
below. The pie chart (I) shows the percentage distribution of the total number of tickets sold by
five different cinema halls on Sunday. The pie chart (II) shows the percentage distribution of the
profit earned by these cinema halls on Sunday.
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Note: The average profit of each ticket sold is Rs 30.

Total tickets sold Percentage distribution
=200 of the profit earned
A
=B
uC
D
BE

Q51. Find the difference between the profit earned on each ticket sold by A and B together and
the profit earned on each ticket sold by D and E together (In Rs).

(2) 0.5

(b)1

(c) 2

(d) 4

(e)3

Q52. The total number of tickets sold by E and C together is what percentage more or less than
the total number of tickets sold by B?

(a) 33.33%

(b) 45%

(c) 60%

(d) 62.5%

(e) 87.5%

Q53. The total number of tickets sold by X is 3/5t of the A. If the profit earned on each ticket sold
by X is 20% more than that of D, then find the total profit earned by X (in Rs).

(a) 1152

(b) 1090

(c) 1253

(d) 1020

(e) None of these

Q54. The average number of tickets sold by B and D together is how many more or less than the
average number of tickets sold by A and E together.
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(a) 20
(b) 15
(c) 14
(d)12
(e) 10

Q55. If the total profit earned by F is 33.33% more than that of A, and the total tickets sold by C
is 40% of the total tickets sold by F, then find the profit on each ticket sold by F (in Rs).

(a) 48

(b) 18

(c)12

(d) 32

(e) 40

Directions (56-58): What approximate value will come in place of question mark (?) in the
following questions? (You are not expected to calculate the exact value)

Q56. 29.98% of 560+120.11 of 39=?
(a) 4889
(b) 4848
(c) 4678
(d) 4458
(e) 4008

Q57. V21.98 X 30.09 + 123.90 =7+ 4
(a) 98

(b) 127

(c) 123

(d) 130

(e) 112

Q58 22.027 + Zof 44 =7—45.09% of 100.9

(a) 534
(b) 450
(c) 239
(d) 670
(e) 809

Q59. A man invested Rs.44999.87 in two different schemes A and B, which scheme A offers
simple interest at rate of 7.5% p.a. and scheme B offers simple interest at rate of 8% p.a., If after
two years, the ratio of interest received by man from scheme A to that of Bis 15 : 8, then find the
approximate amount invested by man in scheme B (in Rs)?
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() 30000
(b) 12000
(c) 20000
(d) 15000
(e) 18000

Q60. A and B invested Rs 7999.99 and Rs 5000.03 in a business. A invested his amount for whole
years and B invested for T+2 days. At the end of the year, the profit share of B is Rs 5999.93 out
of total profit of Rs. 22000.01. Find the approximate value of ‘T’?

(a) 267

(b) 217

(c) 247

(d) 307

(e) 311

Q61. The present age of a father is twice as that of his son. 10 years ago, the age of father was
thrice the age of his son. If the ratio of present age of son’s mother to father is 9 : 8, then find the
difference between present age of mother and son (in years)?

(a) 24

(b) 30

(c)18

(d) 25

(e) 20

Q62. The length of rectangular field is thrice its breadth. IfRs. 960 is required to fencing the field
at the rate Rs 7.5 per sq. m, then what would be the difference between the length and breadth
of the field?

(a) 32 m

(b)16m

(c)24m

(d) 48 m

(e) 40 m

Q63. Ais the set of ten consecutive numbers, while the average of second lowest and the highest
number of set A is 32. If Bis the set of five consecutive odd number which lowest number is equal
to second highest number of set A, then find the average of set B?

(a) 41

(b) 37

(c) 39

(d) 43

(e) 45
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Q64. A spends 30% of his monthly income on rent, 25% of the remaining on groceries, and the
remaining amount on entertainment and savings in the ratio 2:3, respectively. What percentage
of his income is spent on entertainment?

(a) 19%

(b) 21%

(c) 30%

(d) 25%

(e) 18%

Q65. A tank contains 149.99 liters of juice and soda, in which 49.99 liters are soda. If 30.12 liters
of mixture are taken out and 10.02 liters of pure juice are added, then find the ratio of juice to
soda in the resultant mixture.

(a) 6:5

(b) 8:3

(c) 5:7

(d) 4:5

(e) 9:4

Q66. A and B can complete a work in 15 and 30 days, respectively. A and B work together for 6
days, and then A leaves. C joins the work, and B & C together complete the remaining work in 5
days. In how many days can C complete the whole work alone?

(a) 110/9

(b) 123/8

(c) 150/7

(d)121/3

(e) None of these

Q67. A sold two items, X and Y, at 25% and 35% profit, respectively. If the difference between
their profit is Rs 750 and the cost price of both items is the same, find the cost price of item X.
(a) Rs 750

(b) Rs 1750

(c) Rs 7500

(d) Rs 8750

(e) Rs 5750

Q68. The ratio of the speed of a boat in still water to the speed of a current is 4:1. The total time
taken by the boat to cover D km downstream and D - 10 km upstream is 12 hours. Find D.

(a) 125

(b) 105

(c) 80

(d) Can’t be determined

(e) None of these
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Q69. The speed of train A is 20 m/sec, which is double the speed of train B. The ratio of the length
of the trains A to B is 10:7, respectively. Train B can cross a pole in 28 seconds; then find the
length of train A (in meters).

(a) 400

(b) 250

(c) 280

(d) 360

(e) 440

Q70. A invested Rs P+500 in compound interest for two years at 10% p.a. and received interest
of Rs 840. If he invested Rs P at 15% p.a. for simple interest for the same period, then find the
amount he received (in Rs).

(a) 4000

(b) 4550

(c) 1550

(d) 3500

(e) 4050

Q71.1In the word ‘CREATION’, how many pairs of the letters have the same letters between them
(both forward and backward direction) as in the English alphabet?

(a) Four

(b) Two

(c) One

(d) Three

(e) More than four

Directions (72-74): In each question below, some statements are given followed by some
conclusions. You have to assume everything in the statements to be true even if they seem to be
at variance with commonly known facts. Now, decide which of the two given conclusions
logically follow from the statements, disregarding commonly known facts.

Q72. Statements:

All manager are help.
Only a few help are free.
Some free is not rude.
Conclusions:

[. All help being rude is a possibility.
[I. Some manager is help.
(a) Only I follows

(b) Only II follows

(c) Either I or II follows
(d) Both I and II follow
(e) None follows
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Q73. Statements:

Only travel are planet.

Some crow are travel.

All crow are silver.
Conclusions:

I. Some planet being silver is a possibility.
[I. All travel can never be crow.
(a) Only I follows

(b) Only II follows

(c) Either I or II follows

(d) Both I and II follow

(e) None follows

Q74. Statements:

No cow are money.

Only a few cow are plate.
All money are singer.
Conclusions:

[. No plate is money.

[1. All plate being singer is a possibility.
(a) Only I follows

(b) Only II follows

(c) Either I or II follows
(d) Both I and II follow
(e) None follows

Directions (75-79): Study the following information carefully and answer the questions given
below:

Nine persons - A, B, C, D, E, F, G, H, and I - are sitting around a circular table, all facing towards the
center. But not necessarily in the same order.

Only one person sits between A and F. C sits third to the right B,
who is an immediate neighbor of A. Only three people sit between
A and G. G sits second to the left of H. I is an immediate neighbor

of both A and H. F is not an immediate neighbor of D. 'm

Q75. What is the position of E with respect to A?
(a) Third to the right

(b) Immediate left

(c) Fifth to the left

(d) Second to the right

(e) Fifth to the right

ALL EXAMS,
ONE SUBSCRIPTION.
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Q76. Who among the following sit between C and B when counted in clockwise direction from B?
I.H

II.F

[I.D

(a) Both I and II

(b) Only III

(c) Both I and III

(d) Both I and III

(e) Only I

Q77. Four of the following five are alike in a certain way and thus form a group. Find the one
which doesn’t belong to the group.

(a) B-E

(b) F-C

(c)C-D

(d) D-1

(e) H-B

Q78. How many persons sit between G and E when counted from left of G?
(a) Three

(b) Two

(c) One

(d) Four

(e) None

Q79. Who among the following sit fourth to the right of I?
(a) E

(b) F

(ccC

(d)G

(e) None of these

Q80. If a four-letter meaningful word is formed by using of 1st, 4th, 7th and 10th letter from left
end of the word ‘INTERSTELLAR’, then what will be the second letter from right end of that
meaningful word. If more than one meaningful word is formed, mark the answer as Y and if no
meaningful word is formed, mark the answer as Z.

(@)1

(b)T

(c)Z

() E

(e)Y
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Directions (81-85): Study the following information carefully and answer the questions given
below:

Ten people—], K, L, M, N, O, P, Q, R, and S—live in a building with five floors and two flats (Flat 1 and
Flat 2) on each floor. The floors are numbered from 1 to 5 (1 being the lowermost floor and 5 being the
topmost floor).

Note I: Each floor has two flats viz., Flat-1 and Flat-2, where Flat 1 is to the west of Flat 2.

Note II: Flat 1 of floor 2 is immediately above Flat 1 of floor 1 and immediately below Flat 1 of floor 3
and so on. Similarly Flat 2 of floor 2 is immediately above Flat 2 of floor 1 and immediately below Flat
2 of floor 3 and so on.

Note III: The area of each flat is equal.

Note IV: Only two persons live on each floor and only one person lives in each flat.

L lives on an even-numbered floor in Flat-1. P lives in Flat-2 of the topmost floor. N lives west of Q. N
lives on a floor immediately below the L’s floor. K and R live on the same named flat. K and L lives in a
different named flat. Only one floor is between K and 0. K lives below O. S lives to the west of P. M lives
immediately below O, but not in the same named flat. One floor between J’s floor and L’s floor.

Q81. Who lives in Flat 1 on the topmost floor?
(@s

(b)]

()M

(d)o

(e) None of these

Q82. Which pair of people live on the same floor?
(a) Mand K

(b) Qand P

(c)Kand L

(d)Rand O

(e) None of these

Q83. Who lives in Flat 2 on the third floor?
(M
(b) R
(0K
(dQ
(e)O

Q84. How many persons live between S and N in the same numbered flat?
(a) None

(b) One

(c) Four

(d) Two

(e) Three
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Q85. Which among the following statement is/are false?
(a) Two floors between P’s floor and L'’s floor

(b) J lives above L

(c) N lives immediately below K.

(d) Q lives above M

(e) K lives east of L

Directions (86-90): Study the following information carefully and answer the given questions:

Eight persons — A, B, C, D, E, F, G and H were studying about different birds in different months of the
same year, viz. January, March, May, June, July, October, November and December, but not necessarily
in the same order. Each of them is studying about different birds — Kingfisher, Toucans, Penguin,
Ostrich, Woodpecker, Loon, Sparrow and Peacock.

G is studying in the month having odd number of days. Either two persons were studying before G or
after G. Two persons were studying between G and the one who is studying about loon. H was studying
three persons after the person who is studying about ostrich and four months before A. Three persons
were studying between A and the one who is studying about Woodpecker. B is studying about Sparrow
two persons before F. F is studying before E. The one who is studying about Penguin is studying
immediately after the one studying about Kingfisher. Two persons were studying between the ones
studying about Kingfisher and Peacock. D is not the first one to study.

Q86. Which among the following combination is correct?
(a) D and the one studying about Loon

(b) G and the one studying about Peacock

(c) F and the one studying about Penguin

(d) C and the one studying about Ostrich

(e) H and the one studying about Toucans

Q87. Which of the following statement is true?
(a) B is studying in the month of June.

(b) Two persons were studying after F.

(c) G is studying about woodpecker

(d) A is studying in the month of October.

(e) E is not studying about Penguin.

Q88. How many persons were studying between D and the one studying about Kingfisher?
(a) Six

(b) Three

(c) Four

(d) Five

(e) Two
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Q89. Which among the following statement is not true?
[. A is studying about Loon

II. F is studying in the month having even number of days.
[1I. C is studying in the month after D.

(a) Only III

(b) Both I'and II

(c) Both I'and III

(d) Both Il and 111

(e) All I, 11 and I1I

Q90. Who among the following was born in the month of June?
(a) The person studying about Penguin

(b) The person studying about Kingfisher

(c) The person studying about Ostrich

(d) The person studying about Loon

(e) The person studying about Peacock

Directions (91-95): Study the following information carefully and answer the given questions:

Eight persons - P, Q, R, S, T, U, Vand W - sit in a linear row. Some of them face North and some face
South.

Note: Equal number of persons face north and south.

T sits third to the right of V. One person sits between S and V. Both S and V face opposite directions to
each other. P sits immediately to the right of S. P and V are not immediate neighbours. Three persons
sit between P and R. W sits second to the left of R. W is not an immediate neighbour of V. Immediate
neighbours of R face in the direction opposite to each other. T sits immediate to the right of Q. The
persons sit at both the ends of the row face opposite direction to each other. W and U face the same
direction. W doesn’t face north.

Q91. The number of persons sits to the right of T is same as than the number of persons sits to
the rightof ___.

@V

(b) P

(W

(d)S

(e)R

Q92. What is the position of Q with respect to S?
(a) Sixth to the right

(b) Second to the left

(c) Fifth to the right

(d) Second to the right

(e) Sixth to the left
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Q93. How many persons sit between W and U?
(a) None

(b) Two

(c) One

(d) Three

(e) Four

Q94.If Risrelated to T and in the same way Q is related to U then S is related to who among the
following persons?

(a) P

(b) v

(AR

(dU

(e)T

Q95. Who among the following persons sits exactly between V and Q?
(a) P
(b) S
(AR
(dU
(e)T

Directions (96-100): Read the following information carefully and answer the questions given
below:

Six persons -C, P, Q, S, T and U- were born in different years among 1933, 1944, 1981, 1987, 1993 and
2018. The base year for calculating age is 2025. Each of them likes to visit a different place among Italy,
Greece, Spain, Egypt, Maldives, and Japan (not necessarily in the same order).

C is six years elder than the person who likes to visit Italy. One person was born between the persons
who likes to visit Italy and Maldives. U is immediately elder than the person who likes to visit Maldives.
S is two persons elder than T. The one who likes to visit Spain is immediately younger than the T. C
doesn’t like to visit Spain. The one who likes to visit Japan is two persons elder than the one who likes
to visit Egypt. P doesn’t like to visit Greece and Maldives.

Q96. What is the sum of ages of S, U and Q?
(a) 120 years
(b) 111 years
(c) 101 years
(d) 122 years
(e) 121 years
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Q97. What is the age of the person who likes to visit Maldives?
(a) 32 years

(b) 7 years

(c) 44 years

(d) 38 years

(e) 81 years

Q98. Which of the following combinations is correctly matched?
(a) S-1944 - Egypt

(b) Q-2018 - Spain

(c) P-1933 - Japan

(d) U-2018 - Maldives

(e) T-1944 - Greece

Q99. Which among the following statement is/are false?
. Uis elder than T.

II. Cis 37 years elder than S.

III. S doesn’t like to visit Maldives.

(a) Both I and III

(b) Only III

(c) Both Tand II

(d) Both IT and III

(e) All L, IT and III

Q100. Four of the following five are alike in a certain way and thus form a group. Find the one
which doesn’t belong to the group.

(@Pp

(b)U

(0 C

(AT

(e)Q
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S1. Ans.(c)

Sol. Correct Sentence: (c) Had they adhered strictly to the guidelines, the irregularities would not have
occurred.

Explanation:

e Thisis a correct example of third conditional sentence structure.

e “Had they adhered” is an inverted form of “If they had adhered.”

e Structure: Had + subject + past participle, ... would have + past participle.

Incorrect Sentences:

o (a) K “Insisted to take” is wrong. Correct usage is “insisted on taking.”
e (b) X Subjectis “many of whom”, which is plural — should be “have served” not “has served.”
e (d) ¥ “The number of applicants” is a singular subject, so the verb should be “does” not “do.”

S2.Ans.(d)

Sol. Correct Sentence: (d) The diplomat's speech, though lengthy and nuanced, managed to convey the

nation's stance clearly.

Explanation:

e This sentence is grammatically correct, with correct modifier placement and subject-verb
agreement.

Incorrect Sentences:

e (a) & “Nosooner” is followed by “than”, not “when.” Correct: No sooner had the storm passed than...

e (b) & “The manager, along with her assistants,” is singular; verb should be “is conducting.”

e (c) X After “did” we use base verb: “proceeded” should be “proceed.”

$3. Ans.(d)

Sol. Correct Sentence: (d) The startup's success, attributed largely to innovative thinking, drew attention
from global investors.

Explanation:

e Proper structure and verb tense.

e The noun “success” is singular, and “drew” is the correct past tense.

Incorrect Sentences:

e (a) & Third conditional — should be: If he had disclosed..., they might have reconsidered...

e (b) ¥ Between you and me, not “you and I.”

e () &K “Do the judges shows” is incorrect. Correct: do the judges show.

S4. Ans.(e)
Sol. Correct Sentence: None. All have errors.
Explanation of errors:

e (a) X “Refrained to mention” is wrong. Correct: “refrained from mentioning.”
e (b) X In past unreal conditional: “we could have avoided,” not “could had.”
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e (c) &K “Neither..nor..” takes the nearest subject for verb agreement — “team members” is plural
— should be “were”, not “was.”
o (d) & “Statistics” (when referring to data) is plural - verb should be “were”, not “was.”

S5. Ans.(b)

Sol. Correct Sentence: (b) Scarcely had the rebels laid down arms when fresh skirmishes erupted near

the northern border.

Explanation:

e “Scarcely..when” is a correct pair.

o The sentence correctly uses inversion after “Scarcely.”

Incorrect Sentences:

e (a) &K “Conclusion he arrived” is awkward. Correct: “the conclusion he arrived at.”

e (d) X After “Notuntil,” use inversion. Correct: "Not until the investigation was completed did we
know the extent of the financial discrepancies.”

e (c) ¥R “Must demonstrates” is wrong. After modal verb “must,” base verb should follow:
“demonstrate.”

S6. Ans.(d)

Sol. Given sentence: "While some professionals ___(A)_____the flexibility of remote work, others were

eager to return to the structured environment of..."

Options and Analysis:

1. Tailored (GIE],TI%'IT‘T - customized) ¥ (Incorrect) ¢ Does not align with the context where
professionals are accepting or welcoming remote work.

2. Admitted W foa - acknowledged) ¥ (Incorrect) ¢ Implies confession rather than actively
choosing.

3. Recognized (UG - acknowledged as true) $ (Incorrect)  Does not fit the context of adopting
or welcoming something new.

4. Embraced (Tla WTITIT/WR%CIT - willingly accepted) (Correct choice) » Accurately describes
the acceptance and adoption of remote work.

5. Emphasized (TrhTa_"lT - stressed or highlighted) $ (Incorrect) » Doesn't convey the act of choosing
or adapting to remote work.

Correct Answer: (d) Embraced

S$7.Ans.(a)

Sol. Given sentence: "...eager to return to the structured environment of (B)__ office spaces."

Options and Analysis:

1. Traditional (‘CI'ITCI'W - established or conventional) (Correct choice) ¢ Describes established
office setups with structured environments.

2. Renovated (ﬂqﬁﬁﬁﬁ - refurbished) ¥ (Incorrect)  Implies something recently improved, not just
structured.

3. Modern (\HTW - contemporary) ¥ (Incorrect) « While possible, "traditional" better contrasts

4. with the modern flexibility of remote work.
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5. Pristine (31390[ ffad - spotless) & (Incorrect) ¢ Focuses on cleanliness rather than structure.

6. Collective NW - group-based) ¥ (Incorrect)  Does not fit the context of organized office
setups.

Correct Answer: (a) Traditional

$8. Ans.(b)

Sol. Given sentence: "...commuting can consume hours each day, often resulting in increased stress and
decreased productivity."

Options and Analysis:

1. Walking (aaa TdN ¥ (Incorrect)  Typically not the primary concern for lengthy commuting.

2. Travelling (AT DAl - movement from one place to another) (Correct choice) » Accurately
reflects the general act of commuting.

3. Running (a?:_-ﬂ) K (Incorrect)  Implies physical exercise, not commuting.

4. Driving (“Tl?ﬁ T ¥ (Incorrect) « While driving can be a part of commuting, "travelling” is
broader and fits better in this context.

5. Moving mmtrlia?h) ¥ (Incorrect) « Too vague for the context.
Correct Answer: (b) Travelling

$9. Ans.(c)

Sol. Given sentence: "...these individuals find they can better manage their (D)__while maintaining high

efficiency.”

Options and Analysis:

1. Resources mﬂT‘r‘H’) ¥ (Incorrect) » Too broad and doesn’t suit the context of time management.

2. Strength (‘-‘QT@D K (Incorrect) « Does not fit the context.

3. Schedules (W - planned timings) (Correct choice) ¢ Accurately describes what employees
are better managing.

4. Funds (4) ¥ (Incorrect) « Not relevant to managing work time.

5. Well-being @W@) &K (Incorrect) ¢ Although related to health, it doesn’t fit the sentence
structure.

Correct Answer: (c) Schedules

$10. Ans.(e)

Sol. Given sentence: "..some companies have adopted a (E)_ model, allowing employees to combine
remote work with occasional office visits."

Options and Analysis:

1. Nuanced (J&H 'qaaﬁﬂ) & (Incorrect) « Doesn’t convey the idea of a balanced working model.
Thorough N'Q;Uf) K (Incorrect) » Focuses on completeness, irrelevant here.

Scientific (asnﬁm K (Incorrect) « Not applicable in the context of work models.

Distinct (31¢17T) ¥ (Incorrect)  Does not describe the flexible working model mentioned.

Hybrid ﬂ?ﬁﬁﬂ - combination of two systems) (Correct choice) ¢ Precisely describes a model
blending remote and office work.
Correct Answer: (e) Hybrid

g1 W
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$11. Ans.(c)

Sol. Given sentence: "...the post-pandemic landscape (F)_that the future of work is not one-size-fits-all."

Options and Analysis:

1. Epitomizes (‘Cﬁ%lﬂT:[ §AMT - serves as a perfect example) $ (Incorrect) ¢ While plausible,
"demonstrates"” better aligns with the context of showcasing diversity in work models.

2. Inhibits @W - prevents) & (Incorrect) » Incorrect meaning for this context.

3. Demonstrates ('CI_C'{% hA[ - clearly shows) (Correct choice) » Effectively conveys that the post-
pandemic landscape reveals different preferences.

4. Promises (dTGI 63N &K (Incorrect) « Implies a guarantee, which is not appropriate here.

5. Generalizes (ma‘ﬂ?lm g0 K (Incorrect) o Incorrect as the sentence emphasizes diversity in
work models.

Correct Answer: (c) Demonstrates

S$12. Ans.(b)

Sol. Correct Logical Flow:

1. C: the authorities (subject)

2. B:ignored the signs (action)

3. D:ofan impending (description of the signs)

4. E:natural disaster (what the signs were about)

5. A:despite repeated warnings (additional context).

Correct Sequence:C->B-D-E—-A

This forms the coherent statement:

"The authorities ignored the signs of an impending natural disaster, despite repeated warnings."

$13. Ans.(a)

Sol. Correct Rearrangement:

The logical order is:

C: encouraging the use of bicycles in cities (main idea)

E: is a sustainable approach (description of the approach)

A: which can contribute to reducing urban congestion (first benefit)
. D: while also lowering pollution levels significantly (second benefit)
B: and promote healthier lifestyles (third benefit).

Correct Sequence: CEADB

Answer: (a) CEADB

G W N

$14. Ans.(b)

Sol. Rearranged Sentence: Climate change is intensifying the frequency of prolonged droughts and
extreme heat, across various parts of the globe, causing significant ecological imbalances.
CorrectOrder:B->A->C->D->E

e B: “climate change is intensifying the frequency” - main clause

A: “of prolonged droughts and extreme heat” - what'’s intensifying

e C:“across various parts of the globe” - location detail

e D: “impacting agriculture and water supply” - consequence

o E: “causing significant ecological imbalances” - extended consequence

Option (b) best preserves coherence and flow.
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$15. Ans.(e)
Sol. Original Sentence (No Rearrangement Needed):
As the world becomes increasingly digital, governments need to ensure access to digital tools and internet
connectivity, especially in rural and underserved areas, to bridge the digital divide.
e The existing order is already logically and grammatically correct:
o A-B->C->D-E
o The sentence has proper sequence from general context to government action to specific need
to final purpose.
Hence, the correct choice is: (e) No rearrangement required

$16. Ans.(b)

Sol. In the context of banking, “shadow banking” refers to financial activities that occur outside the

traditional banking system and are often loosely regulated. To reduce the risk they pose, the central

bank would aim to dismantle (i.e., break down or eliminate) such activities. At the same time, to ensure

market confidence and proper functioning of financial institutions, it would infuse liquidity — that is,

introduce more money into the system.

So, the correct pair is:

o Dismantle: to carefully take something apart, especially a system or structure.

o Infuse: to inject or introduce something such as funds or energy into a system.

Meanings of all options:

o Invigorate - to give new strength or energy to someone or something, often to increase efficiency
or morale.

e Conserve - to protect something (such as resources or energy) from being wasted, damaged, or
depleted.

o Dismantle - to take apart a complex system, machine, or structure in an organized way.

o Infuse - to gradually introduce a quality, idea, or quantity (like capital) into something.

e Prolong - to extend the duration or length of time something lasts, especially unnecessarily.

e Restrict - to limit movement, activity, or amount of something, especially by regulations or rules.

o Validate - to officially approve, confirm, or support something as accurate or acceptable.

e Suspend - to temporarily stop or delay something from continuing or being in force.

o Highlight - to emphasize or make something more noticeable or important than others.

e Withdraw - to remove or take something back, often money, support, or troops.

$17. Ans.(b)

Sol. After a conflict, diplomatic ties are often damaged. A diplomat would try to revive them, meaning
restore or bring them back into action. Simultaneously, it is crucial to align the strategic objectives of
both nations, ensuring they are in agreement or on a common path for cooperation.

e Revive: to restore something to life, activity, or a former state after a period of decline.

e Align: to bring into proper relationship or coordination with a shared goal or direction.
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Meanings of all options:

e Dismantle - to break down an institution, system, or structure, usually permanently and
systematically.

o Confuse - to make someone uncertain or unable to understand clearly due to conflicting or unclear
information.

e Revive - to restore or renew something that had declined or ceased to function effectively.

o Align - to bring different elements into proper or coordinated arrangement or agreement.

e Obscure - to make something difficult to see, understand, or perceive clearly; to conceal.

o Isolate - to cause someone or something to be separated or detached from others, often for safety
or focus.

o Dismiss - to refuse to consider something seriously, or to remove someone from a position.

o Exaggerate - to describe something as larger, better, or more extreme than it really is.

o Withhold - to deliberately not give something, such as approval, payment, or support.

e Collide - to come into conflict or physical impact, often implying force or disagreement.

$18. Ans.(c)

Sol. To combat climate change, the first logical step is to reduce harmful emissions from industries,

which are a major source of greenhouse gases. Simultaneously, promoting or fostering innovations in

renewable energy is necessary to create sustainable alternatives and encourage cleaner solutions for

the future.

e Reduce: to bring down in amount, size, or intensity, especially harmful substances like carbon
emissions.

o Foster: to encourage the development or growth of ideas, innovations, or systems through support
or promotion.

Meanings of all options:

e Conceal - to intentionally hide something from being known, seen, or disclosed to others.

o Ignore - to deliberately pay no attention to something or refuse to acknowledge its presence or
importance.

e Reduce - to lower or bring down the level, amount, or intensity of something undesirable.

o Foster - to actively support or promote the growth, development, or success of something.

o Escalate - to intensify or increase rapidly, often in a negative or dangerous context.

o Delay - to make something happen at a later time than originally planned or expected.

o Isolate - to separate something from others, often to limit interaction or influence.

o Inhibit - to restrain, prevent, or slow down a process or reaction deliberately or naturally.

e Monitor - to observe and check something carefully over time to ensure proper function or detect
changes.

o Neglect - to fail to give proper attention, care, or effort to something important or required.

$19. Ans.(a)

Sol. The word "confined" in the passage refers to being restricted or limited to a particular space due
to lockdown measures. Option (a) correctly reflects this meaning.

¢ Restricted - Correct synonym for "confined.”

o Isolated - Similar but not exactly the same contextually.

e Protected - Incorrect as it suggests safety rather than limitation.

e Relocated - Incorrect as it suggests movement rather than restriction.

o Diverted - Incorrect as it refers to change in direction rather than restriction.
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$20. Ans.(a)

Sol. (I) Therise in soft toy sales during the pandemic was driven by both emotional comfort and

their educational value for adults.

. Correct - The passage mentions that adults sought soft toys for emotional regulation and
relaxation, and it also notes that educational products supporting emotional well-being gained
traction among adults.

(II) The influencer's decision to get rid of her soft toys was met with disapproval from her

audience.

. Correct - The passage states that the influencer was worried about her online image due to her
soft toy collection, but her audience encouraged her to embrace it, showing support rather than
disapproval.

(III) Zahn attributed the rise in soft toy sales to their affordability and widespread availability

in the market.

o ¥ Incorrect - Zahn attributed the rise to the emotional comfort and psychological stability
provided by soft toys, not to affordability or availability.

Correct Answer: (a) Only I and II are correct

$21. Ans.(c)

Sol. Statement I is incorrect because the passage does not mention affordability or availability as the
reason for increased soft toy sales among adults; the driving factor was emotional comfort.
Statement II is correct because the passage mentions that streaming platforms influenced buying
patterns among adults.

Statement III is correct as the passage highlights that soft toys reflected a shift toward emotional
security and comfort in consumer behavior.

$22. Ans.(c)

Sol. Statement I is true because the passage mentions that adults used soft toys for emotional comfort
and stress relief during the pandemic.

Statement II is false because Zahn predicted that the market would stabilize at low single digits, not
decline sharply.

Statement Il is false because the audience supported the influencer’s decision to continue playing with
soft toys.

$23. Ans.(a)

Sol. The word "book" in the passage refers to the act of reserving or arranging toy purchases in
advance.

o Reserve - Correct synonym as it means to arrange in advance.

e Record - Incorrect as it refers to documenting information.

e Collect - Incorrect as it implies gathering, not arranging.

e Confirm - Incorrect as it refers to approving rather than reserving.

e Purchase - Incorrect as it refers to buying rather than reserving.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A GET IT ON
Google Play

Addal247/

S$24. Ans.(b)

Sol. The phrase "get rid of"' means to remove or eliminate something, which fits the context of the

influencer considering giving up her soft toys.

o Take away - Incorrect because it means to physically remove something, but lacks the sense of
permanently eliminating it.

e Getrid of - Correct because it means to eliminate or discard something.

e Putaway - Incorrect because it means to store something rather than discard it.

o Dispose off - Incorrect because the correct phrase is "dispose of" (without the extra 'f").

e Give away - Incorrect because it means to donate or hand over, not necessarily to eliminate.

$25. Ans.(d)

Sol. The word "sign" in the context of the passage refers to something that represents or indicates

emotional security, making "symbol"” the most appropriate synonym.

e Gesture - Incorrect because it refers to a physical movement to express meaning, not
representation.

e Physical - Incorrect because it refers to tangible or material aspects, not symbolic meaning.

e Agreement - Incorrect because it refers to a formal understanding, not representation.

e Symbol - Correct because it refers to something that represents emotional security.

o Display - Incorrect because it refers to showing or exhibiting something, not representing a
concept.

$26. Ans.(a)

Sol. The passage mentions that the shift toward emotional security and nostalgia drove adult interest
in soft toys, indicating a change in consumer priorities.

e (b) Incorrect - Digital toys are not mentioned as reducing soft toy popularity.

e (c) Incorrect - The focus is on adult consumers, not parents influencing children.

e (d) Incorrect - Adults purchased soft toys throughout the year, not just during sales events.

e (e) Incorrect - Emotional value was emphasized over affordability.

$27. Ans.(b)

Sol. Correct Answer: (b) BAC

Explanation:

o The sentence discusses economic pressure due to monetary trends.

e The noun being described is “pressure.”

o “Persistent” (B) means ongoing or continuous.

o “Inflationary” (A) means related to inflation, a specific economic condition.

e In adjective ordering, general descriptions (like duration or frequency) precede technical or
type-based descriptors.

e Therefore, “persistent inflationary pressure” is the most logical and commonly used phrase.

e This structure reflects both natural collocation in economic writing and correct adjective
sequencing.

e Final order: persistent (B) — inflationary (A) — pressure (C)

. Correct sequence: BAC
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$28. Ans.(a)

Sol. Correct Answer: (a) ACB

Explanation:

e The noun being modified is “claims.”

e “Conflicting” (A) describes the nature of the claims — that they oppose one another.

e “Territorial” (C) defines the type of claims — related to land/borders.

e In English, adjectives indicating opinion or general nature precede those indicating type,
category, or origin.

e Hence, “conflicting territorial claims” is the natural and correct expression used in political and
diplomatic discussions.

e This order is frequently used in news articles covering boundary disputes and international
conflicts.

o Final structure: conflicting (A) - territorial (C) — claims (B)

. Correct sequence: ACB

$29. Ans.(d)

Sol. Correct Answer: (d) BCA

Explanation:

e The noun being modified is “platforms.”

e “Unauthorized” (A) means not officially permitted or approved.

e “Third-party” (B) indicates an external entity not directly involved.

e Together, “unauthorized third-party platforms” is a standard phrase in tech and data privacy
contexts.

e The correct adjective order in English: opinion/permission (B) — type or category (C) - noun
(A)

e “Third-party unauthorized platforms” sounds awkward and is rarely used in formal contexts.

e Final construction: unauthorized (B) — third-party (C) - platforms (A)

Correct sequence: BCA

$30. Ans.(d)

Sol. Correct Answer: (d) ABC

Explanation:

e The noun being described is “portrayal.”

e The descriptors are “raw” (B), “moving” (C), and “unflinchingly honest” (not labeled).

e The phrase uses parallel structure with “both... and...” — typically requiring two items, but a third
is often added stylistically in journalism.

e All descriptors must be grammatically parallel (adjectives) and flow in increasing emotional
intensity.

o “Raw” (B) implies unfiltered or direct; “moving” (C) suggests emotional impact.

e The sequence raw = moving — unflinchingly honest builds a natural progression of emotional
tone.

e Final construction: portrayal (A) - raw (B) - moving (C)

. Correct sequence: ABC


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

$31. Ans.(a)

Sol. When two or more adjectives are used before a noun, they usually follow a specific and logical
order. This is often remembered using the rule:

Opinion - Size —» Age — Shape - Color - Origin —» Material - Purpose - Noun

Let’s categorize the adjectives in the sentence:

o sleek — opinion (describes its appearance/style)

e black - color

o armored — purpose (describes function - it's for protection)

Applying the rule, the adjectives must follow this order: opinion — color — purpose

Thus, it should be: sleek black armored vehicle.

Incorrect original phrase “black armored sleek” violates this natural flow and sounds awkward to
native speakers. While it might be understandable, it’s grammatically and stylistically off.

Therefore, the best replacement is option (a).

$32. Ans.(c)

Sol. Subjunctive mood is commonly used after certain verbs like suggest, propose, recommend,
demand, insist, etc.

In such cases, we use the bare infinitive (base form) of the verb in the subordinate clause regardless
of the subject.

Let’s analyze:

e The main clause is: “The UN resolution proposed that...”

e After “proposed that”, the subjunctive mood requires the verb to stay in base form.

So:

e ‘“improves” is incorrect - it's a third-person singular present form.

e “improve” is correct - it's the base form, as required in the subjunctive mood.

Correct sentence:

“The UN resolution proposed that the country improve its human rights record...”

Other options either break tense agreement (d), use modal verbs incorrectly (a), or double up the verb
with subject-verb disagreement (b).

Hence, option (c) is grammatically and formally accurate.

$33. Ans.(d)

Sol. In English grammar:

o Direct questions use inversion (i.e, the verb comes before the subject).

o Indirect questions, on the other hand, do not use inversion. The subject precedes the verb.

Let’s compare:

e “Why was the policy reversed” — correct for direct questions, e.g., “Why was the policy reversed?”

e “Why the policy was reversed” — correct for indirect questions, e.g., “He did not specify why the
policy was reversed.”

Here, the sentence uses reported speech, not a direct question. Therefore, we need the subject-verb

structure (the policy was) instead of verb-subject (was the policy).

Final corrected sentence:

“The minister did not specify why the policy was reversed despite public support.”

So, option (d) is the only one that fixes the structural error and aligns with the grammar of indirect

speech.
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S$34. Ans. (d)

Sol. Options Analysis:

e (@) A-D: Incorrect. "Caught in the unexpected traffic jam, many first-time buyers felt overwhelmed"
does not make logical sense.

e (b) B-E: Incorrect. "The new housing policy, they missed the crucial interview" does not make
logical sense.

e (c) Both A-D and B-D: Incorrect. Neither pairing makes logical sense.

e (d) A-E: Correct. This pairing forms a meaningful sentence.

e (e) B-E and C-D: Incorrect. "B-E" does not make logical sense, though "C-D" does.

Final Answer:

The correct option is (d) A-E, as it forms a meaningful and grammatically correct sentence:

"Caught in the unexpected traffic jam, they missed the crucial interview."

$35. Ans.(d)

Sol. Correct Usage:

(d) The washing machine tends to break down every time we overload it.

e "Break down" = to stop functioning, typically due to a mechanical issue.

e Used correctly here for a machine that malfunctions when overloaded.

Incorrect Usages:

e (a) “Break down the stairs”  — Incorrect; one does not break down stairs to paint them. You
might say "sand" or "repaint.”

o (b) “Break down my friend at the airport” & — Nonsensical; one cannot "break down" a person in
this context. Perhaps meant "pick up" or "drop off."

e (c) “Break down the cake” 3 — Not idiomatic. You cut or slice a cake; “break down” is not used for
dividing food.

$36. Ans.(a)

Sol. The correct sequence is ECFDAB.

(E) - Introduces the idea of a significant transformation in the concept of work.

(C) - Explains the three key drivers (remote work, automation, and the gig economy) behind this
transformation.

(F) - Expands on how these pillars are reshaping workplaces and encouraging adaptability.

(D) - (Fixed) Explains how technological advancements and connectivity are enabling these changes.
(A) - Focuses on the rise of remote work, supporting the broader transformation.

(B) - Concludes by addressing how automation is creating new opportunities and reshaping job roles.
Correct Answer: v (a) E

$37. Ans.(d)

Sol. The correct sequence is ECFDAB.

(E) - Introduces the idea of a significant transformation in the concept of work.

(C) - Explains the three key drivers (remote work, automation, and the gig economy) behind this
transformation.

(F) - Expands on how these pillars are reshaping workplaces and encouraging adaptability.
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(D) - (Fixed) Explains how technological advancements and connectivity are enabling these changes.
(A) - Focuses on the rise of remote work, supporting the broader transformation.

(B) - Concludes by addressing how automation is creating new opportunities and reshaping job roles.
Correct Answer: v (d) C

$38. Ans.(c)

Sol. Correct Sequence: E-C-F-D-A-B

Analysis: Sentence F logically follows C as it expands on the impact of the three pillars (remote work,
automation, and the gig economy) by explaining how they are reshaping workplace dynamics.

(E) - Introduces the idea of a significant transformation in the concept of work.

(C) - Explains the three key drivers (remote work, automation, and the gig economy) behind this
transformation.

(F) - Expands on how these pillars are reshaping workplaces and encouraging adaptability.

(D) - (Fixed) Explains how technological advancements and connectivity are enabling these changes.
(A) - Focuses on the rise of remote work, supporting the broader transformation.

(B) - Concludes by addressing how automation is creating new opportunities and reshaping job roles.
Correct Answer: v (c) F

$39. Ans.(b)

Sol. The correct sequence is ECFDAB.

Sentence A follows sentence D by discussing how remote work, a major factor in modern work
practices, has evolved from being rare to becoming mainstream.

(E) - Introduces the idea of a significant transformation in the concept of work.

(C) - Explains the three key drivers (remote work, automation, and the gig economy) behind this
transformation.

(F) - Expands on how these pillars are reshaping workplaces and encouraging adaptability.

(D) - (Fixed) Explains how technological advancements and connectivity are enabling these changes.
(A) - Focuses on the rise of remote work, supporting the broader transformation.

(B) - Concludes by addressing how automation is creating new opportunities and reshaping job roles.

Correct Answer: v (b) A

$40. Ans.(e)

Sol. The correct sequence is ECFDAB.

Sentence B serves as a concluding statement by addressing the rise of automation and its impact,
effectively wrapping up the discussion on evolving work patterns.

(E) - Introduces the idea of a significant transformation in the concept of work.

(C) - Explains the three key drivers (remote work, automation, and the gig economy) behind this
transformation.

(F) - Expands on how these pillars are reshaping workplaces and encouraging adaptability.

(D) - (Fixed) Explains how technological advancements and connectivity are enabling these changes.
(A) - Focuses on the rise of remote work, supporting the broader transformation.

(B) - Concludes by addressing how automation is creating new opportunities and reshaping job roles.

Correct Answer: v (e) B
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S$41. Ans.(b)
Sol. For company A
Let the total vehicles (Petrol, EV and Diesel) manufactured be 100a

Petrol vehicles manufactured = 100a x % = 60a
Diesel vehicles manufactured = 60a x % = 24q

Given,

100a-60a-24a=64

16a = 64

a=4

The total vehicles (Petrol, EV and Diesel) manufactured = 100a = 400
Petrol vehicles manufactured = 240

Diesel vehicles manufactured = 96

Similarly,
Companies Total EV Petrol vehicles Diesel
manufactured manufactured vehicles
manufactured
A 64 240 96
B 120 96 24
C 171 108 81
D 300 125 75
E 28 140 112

Required difference = (120 + 96 + 24) - 75 =165

S$42. Ans.(a)

Sol. For company A

Let the total vehicles (Petrol, EV and Diesel) manufactured be 100a

Petrol vehicles manufactured = 100a x

a0
100

= 6la

Diesel vehicles manufactured = 60a x % = 24q

Given,

100a-60a-24a=64

16a =64
a=4

The total vehicles (Petrol, EV and Diesel) manufactured = 100a =

400

Petrol vehicles manufactured = 240

Diesel vehicles manufactured = 96

ALL EXAMS,
ONE SUBSCRIPTION.

240]O
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Similarly,
Companies Total EV Petrol vehicles Diesel
manufactured manufactured vehicles
manufactured
A 64 240 96
B 120 96 24
C 171 108 81
D 300 125 75
E 28 140 112

Required percentage = % % 100 = 86.67%

S$43. Ans.(b)
Sol. For company A
Let the total vehicles (Petrol, EV and Diesel) manufactured be 100a

Petrol vehicles manufactured = 100a x % = 60a

Diesel vehicles manufactured = 60a x % = 24a

Given,

100a-60a-24a=64

16a =64

a=4

The total vehicles (Petrol, EV and Diesel) manufactured = 100a = 400
Petrol vehicles manufactured = 240

Diesel vehicles manufactured = 96

Similarly,
Companies Total EV Petrol vehicles Diesel
manufactured manufactured vehicles
manufactured
A 64 240 96
B 120 96 24
C 171 108 81
D 300 125 75
E 28 140 112
Required ratio = (108 + 81 + 171) : 120
=360:120=3:1
S44. Ans.(e)

Sol. For company A

Let the total vehicles (Petrol, EV and Diesel) manufactured be 100a

Petrol vehicles manufactured = 100a x % = 60a

Diesel vehicles manufactured = 60a x % = Z4dn
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Given,

100a-60a-24a=64

16a = 64
a=4

The total vehicles (Petrol, EV and Diesel) manufactured = 100a =400

Petrol vehicles manufactured = 240

Diesel vehicles manufactured = 96

Similarly,
Companies Total EV Petrol vehicles Diesel
manufactured manufactured vehicles
manufactured
A 64 240 96
B 120 96 24
C 171 108 &1
D 300 125 75
E 28 140 112

Total number of vehicles (diesel, EV, and petrol) manufactured by F
= 1.25 X (125 + 75 + 300) = 625

Total number of petrol vehicles manufactured by F = - = 54

108

Total number of diesel vehicles manufactured by F = % % 19 =38
Total number of EVs manufactured in F= 625 - 54 - 38 = 533

$45. Ans.(b)

Sol. For company A
Let the total vehicles (Petrol, EV and Diesel) manufactured be 100a

Petrol vehicles manufactured = 100a x % = 60a

Diesel vehicles manufactured = 60a x % = Z4dn

Given,

100a-60a-24a=64

16a =64
a=+4

The total vehicles (Petrol, EV and Diesel) manufactured = 100a =400

Petrol vehicles manufactured = 240

Diesel vehicles manufactured = 96

Similarly,
Companies Total EV Petrol vehicles Diesel
manufactured manufactured vehicles
manufactured
A 64 240 96
B 120 96 24
C 171 108 81
D 300 125 75
E 28 140 112
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The total number of vehicles (diesel, EV, and petrol) manufactured by A
=240+ 96 + 64 =400

Total number of diesel vehicles manufactured C, D and B together =81 + 75 + 24 = 180

Required difference = 400 - 180 = 220

$46. Ans.(b)
Sol.
Let the quantity of white rice sold by A be 5x

The quantity of brown rice sold by B = 5x X % = bx

The quantity of white rice sold by B = 6x + 20
The quantity of brown rice sold by A= ES—I X2 =4x

The quantity of brown rice soldby C=60 % 3 — 6x — 4x = 180 — 10x
The quantity of white rice sold by C=75 - [180 - 10x)

=10x- 105
Given, 230 =10x- 105+ 6x+ 20 + 5x
315=21x
15=x
Sellers Quantity of Brown Quantity of White
rice sold (in kg) rice sold (in kg)
A 60 75
B a0 110
C 30 45
Required difference = 60 - 45 = 15 kg
S$47. Ans.(e)
Sol.
Let the quantity of white rice sold by A be 5x
The quantity of brown rice sold by B = 5x X 120 _ gy

100

The quantity of white rice sold by B = 6x + 20

The quantity of brown rice sold by A = 63—1' ® 2 =4dx

The quantity of brown rice sold by C=60 x 3 — 6x — 4x = 180 — 10x
The quantity of white rice sold by C=75 - (180 - 10x)

=10x- 105
Given, 230 =10x - 105 + 6x + 20 + 5x
315=21x
15=x
Sellers Quantity of Brown Quantity of White
rice sold (in kg) rice sold (in kg)
A 60 75
B 10 110
C 30 45

Required percentage = % » 100 = 183.33%
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$48. Ans.(a)
Sol.

Let the quantity of white rice sold by A be 5x

The quantity of brown rice sold by B = 5x X %

The quantity of white rice sold by B = 6x + 20

= b6x

The quantity of brown rice sold by A = Z—I ¥ 2=4x

The quantity of brown rice sold by C=60 x 3 — 6x — 4x = 180 — 10x
The quantity of white rice sold by C =75 - (180 - 10x)

=10x- 105

Given, 230 =10x - 105 + 6x + 20 + 5x

315=21x

15=x
Sellers Quantity of Brown Quantity of White
rice sold (in kg) rice sold (in kg)

A 60 75
B a0 110
C 30 45

The total quantity of white rice sold by D =5 + S =50 kg

2

The total quantity of brown rice sold by D = E ®x 11 =66kg
Required quantity =50 + 66 = 116 kg

$49. Ans.(d)
Sol.

Let the quantity of white rice sold by A be 5x

The quantity of brown rice sold by B = 5x X 120

100

The quantity of white rice sold by B = 6x + 20

= b6x

The quantity of brown rice sold by A = Z—I ¥ 2=4x

The quantity of brown rice sold by C=60 x 3 — 6x — 4x = 180 — 10x
The quantity of white rice sold by C =75 - (180 - 10x)

=10x- 105
Given, 230 =10x - 105 + 6x + 20 + 5x
315=21x
15=x
Sellers Quantity of Brown Quantity of White
rice sold (in kg) rice sold (in kg)
A 60 75
B a0 110
C 30 45

Let the price of each kg of brown rice sold be Rs X
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ATQ,
20x75+Xx60=2580
60X=1080

X=18

$50. Ans.(d)
Sol.
Let the quantity of white rice sold by A be 5x

The quantity of brown rice sold by B = 5x X % = 6x

The quantity of white rice sold by B = 6x + 20
The quantity of brown rice sold by A = Z—I ® 2 =4x

The quantity of brown rice sold by C=60 x 3 — 6x — 4x = 180 — 10x
The quantity of white rice sold by C=75 - (180 - 10x)

=10x- 105

Given, 230 =10x - 105 + 6x + 20 + 5x

315=21x
15=x
Sellers Quantity of Brown Quantity of White
rice sold (in kg) rice sold (in kg)
A 60 75
B 10 110
C 30 45
Required ratio = 110 : (60+90)
=110:150
=11:15
S$51. Ans.(c)
Sol.

Total profit earned by all the cinema halls = 200 X 30 = Rs 6000
For cinema hall A

Total tickets sold = 200 X % = 40

Total profit earned = 6000 X % = Rs 1800

Similarly,
Cinema halls Total tickets Total profit
sold earned (In Rs)
A 40 1800
B 50 600
C 20 1500
D 30 1200
E &0 900
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The profit earned on each ticket sold by A and B together

_ 1800 4 600 _ -
4n+51:| 45+ 12 = Rs 57

The profit earned on each ticket sold by D and E together
1200 | 900
=0 +E_4D+15_R555

Required difference =57 -55=Rs 2

$52. Ans.(c)
Sol.

Total profit earned by all the cinema halls = 200 x 30 = Rs 6000
For cinema hall A

Total tickets sold = 200 X % = 40

Total profit earned = 6000 X % = Rs 1800

Similarly,
Cinema halls Total tickets Total profit
sold earned (In Rs)
A 40 1800
B 50 600
C 20 1500
D 30 1200
E 60 200

The total number of tickets sold by E and C together = 60 + 20 = 80

Required percentage = ? »* 100 = 609

$53. Ans.(a)
Sol.

Total profit earned by all the cinema halls = 200 x 30 = Rs 6000
For cinema hall A

Total tickets sold = 200 X — = 40
Total profit earned = 6000 X % = Rs 1800

Similarly,
Cinema halls Total tickets Total profit
sold earned (In Rs)
A 40 1800
B 50 600
C 20 1500
D 30 1200
E 60 900
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The total number of tickets sold by X = g)-( 40 = 24

Profit earned on each ticket sold by X = % x 222 — 48 Rs

100
Required answer =48 X 24 = Rs 1152

S$54. Ans.(e)
Sol.

Total profit earned by all the cinema halls = 200 X 30 = Rs 6000
For cinema hall A

Total tickets sold = 200 X é = 40

Total profit earned = 6000 X % = Rs 1800

Similarly,
Cinema halls Total tickets Total profit
sold earned (In Rs)
A 40 1800
B 50 600
C 20 1500
D 30 1200
E 60 900
Required difference = LEALL 50-:30 =50-40=10
$55. Ans.(a)
Sol.

Total profit earned by all the cinema halls = 200 x 30 = Rs 6000
For cinema hall A

Total tickets sold = 200 X % = 40

Total profit earned = 6000 X % = Rs 1800

Similarly,
Cinema halls Total tickets Total profit
sold earned (In Rs)
A 40 1800
B 50 600
C 20 1500
D 30 1200
E 60 900

Total profit earned by F = = X 1800 = Rs 2400

The total tickets sold by E = % X 100 = 50

Required answer = 5%::0 = Rs 48
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S56. Ans.(b)

Sol. 30% of 560+120 of 39=?
168+4680=?

4848 =7

$57. Ans.(e)
Sol.

V22 x 30 + 124 =7+ 4
28 X 4 =7
112=7

$58. Ans.(a)
Sol.

1
22° + aaf 45 =7 —45% of 100
484 + 5 =7-45

534 =7
$59. Ans.(d)
Sol.

Questions asked in approximate value
So, let total amount invested by man = 45000 REs.
Let amount invested in scheme A=xRs

So, amount invested in scheme B = (45000 - x) Rs.

Principle ®xRate of itnerest ¥ Time
100

Simple interest =

AN TEH2 15
ATQ, (4snuﬂ—x}xs:<2_ r}
8x+16x=720000
24x = 720000

x = 30000

Required amount = 45000 - 30000 = 15000 Rs

$60. Ans.(b)

Sol. Questions asked in approximate value

So, investment of A = 8000 Rs.

Investment of B = 5000 Rs.

Profit share of B = 6000 Rs.

And profit share of A=22000 - 6000 = 16000 Rs.

We know, total days in one year = 365 days
..FLTQ_,. 8000x365 _ 16000

EODO%IT+2) 6000

1095=5T + 10
5T =1085
T=217
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$61. Ans.(d)

Sol. Let son’s present age be x yrs

So, his father’s present age=2x yrs

10 years ago, the ages would have been

2x-10 =3(x-10)

2x-10=3x-30

x=20
Father present age = 2x20=40 years
Mother's present age = 40 X % = 45 years

Required difference = 45 - 20 = 25 years

S$62. Ans.(a)

Sol. Let the breadth of field be x m and that of length will be 3x m
Perimeter = 2(length + breadth)

2(x+3x)x7.5 =960

8x =128

x=16

Required difference = 3x - x = 2x = 2x16 =32 m

$63. Ans.(c)

Sol. Let set A be X, x+1, X+2, --------- . X+9
ATQ, x+1+x+9 = 64

2x =54

x=27

Second highest number of A = 27+8 = 35
Let set B bey, y+2, y+4, y+6 and y+8
Given,y =35

So,set B =35,37,39,41 and 43

35+37+39+21+43
[+

39

Required average =

S$64. Ans.(b)
Sol.

Let the monthly income of A be 100x
Amount spent on rent = 30x

Amount spent on groceries = (100x — 30x) X % = 17.5x%
Amount spent on entertainment = (100x — 30x — 17.5x) X % = 21x

. _ 21w
Required percentage = To0n X 21%
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S$65. Ans.(e)
Sol.

Total quantity of mixture = 150 liters [approx.)
Quantity of soda = 50 liters (approx.)

Quantity of juice = 100 liters

Quantity of mixture taken out = 30 liters (approx.)
Quantity of juice added = 10 liters (approx.)

100-30%=+10
Required ratio=——=7—
50-30%3

=90 : 40
=0:4

$66. Ans.(c)

Sol.

Let the total work (LCM of 15 & 30) = 30 units

Efficiency of A= E = 2 units/day

Efficiency of B = E = 1 units/day

Amount of work done by A and B together in 6 days =6 X (1 + 2) = 18 units

Let the efficiency of C be c unit/day

ATQ,

30— 18

—=(1+c

——=(1+0)
l4d=c
i - 30 _ 150

Required days = » . days
$67. Ans.(c)
Sol.

Let the cost price of each item be Rs 100a
ATQ,

35—-25
100a x =750
100

10
100a X — = 750
100

a=75
Required price = 100a=7500Rs

$68. Ans.(d)
Sol. Let the speed of the boat in still water and the speed of the current be 4a and 1a respectively.
ATQ,
D D-10
St 3¢ P

3D + 5D — 50 = 180a
Two variables in one equation can'’t solve.
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$69. Ans.(a)

Sol. The speed of train B=20/2 =10 m/sec

Let the length of the trains A and B be 10a and 7a meters
respectively

1 7a 'm
Given, — = 28
10

2=40 ALL EXAMS,
Required answer = 10a = 400 meters ONE SUBSCRIPTION.
$70. Ans.(b)

Sol.

1010
100

Commutative compound interest = (1[} + 10 + )% = 21%

Given,

(P 4+ 500) x 2L _ sa0
100

P+ 500 = 4000

P= 3500

Required amount = 3500 + 3500x15%3 _

Rz 4550

$71. Ans.(b)
Sol.

mATIGN
(]

$72. Ans.(d)

Sol.

[. Follow: No direct relation between the given elements so, possible relation will follow.
II. Follow: All manager are help so, some manager is also help

manager

help

$73. Ans.(b)

Sol. I. Not follow: The relation of planet is restricted with other elements except travel. So, no relation
[I. Follow: The relation of planet is restricted with other elements except travel. So, the given statement
will follow
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travel

S$74. Ans.(b)
Sol. I. Not Follow: No direct relation between plate and money, so definite relation will not follow.
II. Follow: No direct relation between the given elements so, possible relation will follow.

Goate QY com Aoy

$75. Ans.(a)
Sol. Final arrangement is here:

G

$76. Ans.(d)
Sol. Final arrangement is here:
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$77. Ans.(e)
Sol. Final arrangement is here:

A B

Logic here is: Only one person sits between both the persons.

$78. Ans.(c)
Sol. Final arrangement is here:

$79. Ans.(a)
Sol. Final arrangement is here:
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$80. Ans.(e)
Sol. Given word- INTERSTELLAR
Meaningful word- Tile, Lite

$81. Ans.(a)
Sol. Final arrangement is here:
Floors | Flat1l Flat 2
5 S P
4 I 0
3 M R
2 L K
1 N Q
$82. Ans.(c)
Sol. Final arrangement is here:
Floors | Flat1l Flat 2
5 S P
4 ] 0
3 M R
2 L K
1 N Q
$83. Ans.(b)
Sol. Final arrangement is here:
Floors | Flat1 Flat 2
5 S P
4 ] 0
3 M R
2 L K
1 N Q
S$84. Ans.(e)
Sol. Final arrangement is here:
Floors | Flat1l Flat 2
5 5 P
4 ] 0
3 M R
2 L K
1 N Q
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$85. Ans.(d)
Sol. Final arrangement is here:
Floors | Flat1l Flat 2
5 S P
4 I 0
3 M R
2 L K
1 N Q
$86. Ans.(d)
Sol.
Months Persons Birds
January C Ostrich
March D Woodpecker
May G Toucans
June H Peacock
July B Sparrow
October A Loon
November F Kingfisher
December E Penguin
$87. Ans.(d)
Sol.
Months Persons Birds
January C Ostrich
March D Woodpecker
May G Toucans
June H Peacock
July B Sparrow
October A Loon
November F Kingfisher
December E Penguin
$88. Ans.(c)
Sol.
Months Persons Birds
January C Ostrich
March D Woodpecker
May G Toucans
June H Peacock
July B Sparrow
October A Loon
November F Kingfisher
December E Penguin
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$89. Ans.(a)
Sol.
Months Persons Birds
January C Ostrich
March D Woodpecker
May G Toucans
June H Peacock
July B Sparrow
October A Loon
November F Kingfisher
December E Penguin
$90. Ans.(e)
Sol.
Months Persons Birds
January C Ostrich
March D Woodpecker
May G Toucans
June H Peacock
July B Sparrow
October A Loon
November F Kingfisher
December E Penguin
S$91. Ans.(d)
Sol.
A LA LA !
1 W L3 1 - | Do
P S W V R U Q
$92. Ans.(e)
Sol.
? I I ¢ gF L L ]
- 1 o
P § W V R U Q
$93. Ans.(b)
Sol.
i3 L LA L Ly l
1 v k3 1 - | D3
P S W V R U Q
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S94. Ans.(b)
Sol.
G L LA JF L A l
T v W | v | 7
P S W V R u T Q

Logic here is first person sits second to the left of second person.

$95. Ans.(d)
Sol.
3 L LA L L l
1 v E'3 1 W 1 v
P S W Vv R U T Q

$96. Ans.(e)

Sol.
Years Ages | Persons | Places
1933 92 P Japan
1944 81 5 Greece
1981 44 C Egvpt
1987 38 T Italy
1993 32 U Spain
2018 7 Q Maldives

$97. Ans.(b)

Sol.
Years Ages | Persons | Places
1933 92 P Japan
1944 81 S Greece
1981 44 C Egyvpt
1987 38 T [taly
1993 32 U Spain
2018 7 0 Maldives

$98. Ans.(c)

Sol.
Years Ages | Persons | Places
1933 92 P Japan
1944 81 5 Greece
1981 44 C Egyvpt
1987 38 T Italy
1993 32 U Spain
2018 7 Q Maldives
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$99. Ans.(c)
Sol.
Years Ages | Persons | Places
1933 92 P Japan
1944 81 S Greece
1981 44 C Egyvpt
1987 38 T Italy ALL EXAMS,
1993 | 32 g Spain ONE SUBSCRIPTION.
2018 7 Q Maldives
e —
& 0
$100. Ans.(e)
Sol.
Years Ages | Persons | Places
1933 92 P Japan
1944 81 S Greece
1981 44 C Egypt
1987 38 T [taly
1993 32 U Spain
2018 7 Q Maldives

Except Q, all the other persons is of an even number age.
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